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Generalized sideway sway compensation trajectory for quadruped
waking robot
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Ryo Kurazume, Kan Yoneda, and Shigeo Hirose
Tokyo Institute of Technology, 2-12-1, Ookayama, Meguro-ku, Tokyo

We have proposed the sideway sway compensation trajectory for quadruped waking robot. This method uses
the lateral motion of robot body so as to keep a zero momentum point (ZMP) on a diagonal line between supporting
foots, and thus, the robot maintains dynamic walking stably. In this paper, we apply this idea to the longitudinal
and vertical motion of robot body, and propose an optimum body trajectory that minimizes energy consumption.

Keywords: Quadruped robot, Dynamic walking, ZMP, Lateral motion, Energy efficiency
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Figure 1: Trajectories of robot body

Table 1: Minimum square acceleration

lateral | longitudinal | vertical
la|* | 0.623 0.334 0.331
ay 0.1 0.106 0.107
A 0.0204 0.0204 0.0207
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